mXETA R BRI 0 BRFEWRN IENE

% & B e E2 = A % %=
AL REAEL REEER AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A

B F O# % 1,271 1,426 -155 514 527 -13 40.4 37.0 3.4 91 123 -32 118 51 67 129.7 41.5 88.2
[z th bl 685 705 -20 239 186 53 34.9 26.4 8.5 50 49 1 53 24 29 106.0 49.0 57.0

S b 415 423 -8 130 119 11 31.3 28.1 3.2 24 18 6 30 9 21 125.0 50.0 75.0

dHHKX 85 94 -9 32 20 12 37.6 21.3 16.3 4 4 6 2 4 150.0 50.0 100.0

b EREKX 49 51 -2 22 14 8 44.9 275 17.4 4 1 3 6 1 5 150.0 100.0 50.0

L EK 136 137 -1 55 33 22 40.4 24.1 16.3 18 26 -8 11 12 -1 61.1 46.2 14.9
B # L 298 417 -119 120 206 -86 40.3 49.4 -9.1 11 39 -28 30 16 14 272.7 41.0 231.7
= th bl 47 47 29 27 2 61.7 57.4 4.3 3 3 4 2 2 133.3 66.7 66.6
= % bl 33 27 6 12 13 -1 36.4 48.1 -11.7 2 -2 2 -
kv fiE) bl 29 27 2 16 10 6 55.2 37.0 18.2 5 5 5 1 4 100.0 20.0 80.0
H = L 15 14 1 5 8 -3 33.3 57.1 -23.8 1 -1 3 -3 - 300.0 -300.0
8 #t bl 29 40 -11 16 12 4 55.2 30.0 25.2 1 3 -2 3 1 2 300.0 33.3 266.7
= R L 7 3 4 2 3 -1 28.6 100.0 -71.4 1 1
# ) Ll 6 7 -1 3 4 -1 50.0 57.1 -7.1 1 1
fi@ Al bl 14 19 -5 13 10 3 92.9 52.6 40.3 3 2 1 9 300.0 300.0
SR ) 15 19 -4 10 9 1 66.7 47.4 19.3 2 3 -1 2 100.0 100.0
U & bl 24 10 14 9 4 37.5 40.0 -2.5 3 -3 1 1 -
=1 BE bl 7 18 -11 13 5 8 185.7 27.8 157.9 1 1 1 2 -1 100.0 200.0 -100.0
=S 1E L 4 13 -9 1 8 -7 25.0 61.5 -36.5 - -
= = bl 23 11 12 10 4 6 43.5 36.4 7.1 8 2 6 2 2 25.0 25.0
AR A S AT 5 14 -9 3 -3 21.4 -21.4 1 -1 -
WERME S AT 5 4 1 4 -4 100.0 -100.0 1 1
% O #B 2 [ A7 6 3 3 1 1 16.7 33.3 -16.6 1 1 -
/)N BB & B HY 6 5 7 2 5 116.7 40.0 76.7 1 -1 5 1 4 - 100.0 -100.0
B RE R E N - - - -
& M AR 37 2F A7 2 5 -3 3 1 2 150.0 20.0 130.0 2 -2 -
f5 FB AR B o8 T 3 3 1 3 -2 33.3 100.0 -66.7 1 -1 1 -1 - 100.0 -100.0
F5 H AR % & AT 1 1 - - 1 1 - -
EHEAFAERN 1 -1 - - -
AKEBAKFIHT 1 -1 - 1 -1 -
A K BB 3 K HT 4 -4 2 -2 - 50.0 -50.0 - -
PNEER & i o R AT 2 4 -2 1 2 -1 50.0 50.0 1 -1 -
B\ RAE 6 5 1 2 2 33.3 33.3 3 3 -




mXETA R BRI 0 BRFEWRN IENE

S Y Yl &= ES = A % &=
AL REAEL REEER AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A

B F O# % 485 609 -124 43 49 -6 8.9 8.0 0.9 695 694 1 353 427 -74 50.8 61.5 -10.7
[z th bl 274 350 -76 23 27 -4 8.4 7.7 0.7 361 306 55 163 135 28 45.2 441 1.1

S b 172 235 -63 13 16 -3 7.6 6.8 0.8 219 170 49 87 94 -7 39.7 55.3 -15.6

dHHKX 35 51 -16 3 6 -3 8.6 11.8 -3.2 46 39 7 23 12 11 50.0 30.8 19.2

b EREKX 24 19 5 2 1 1 8.3 5.3 3.0 21 31 -10 14 12 2 66.7 38.7 28.0

L EK 43 45 -2 5 4 1 11.6 8.9 2.7 75 66 9 39 17 22 52.0 25.8 26.2
- - bl 144 180 -36 11 11 7.6 6.1 1.5 143 198 -55 79 179 -100 55.2 90.4 -35.2
= th bl 12 9 3 1 2 -1 8.3 22.2 -13.9 32 35 -3 24 23 1 75.0 65.7 9.3
= % bl 11 6 5 1 2 -1 9.1 33.3 -24.2 22 19 3 9 11 -2 40.9 57.9 -17.0
kv fiE) bl 8 10 -2 2 1 1 25.0 10.0 15.0 16 12 4 9 8 1 56.3 66.7 -10.4
H = L 2 4 -2 13 9 4 5 5 38.5 55.6 -17.1
8 #t bl 13 20 -7 1 1 7.7 5.0 2.7 15 17 -2 12 10 2 80.0 58.8 21.2
= 2 L 3 3 2 -2 - 3 2 1 2 1 1 66.7 50.0 16.7
# ) Ll 1 1 2 2 200.0 200.0 4 5 -1 1 4 -3 25.0 80.0 -55.0
& 11 L 2 6 -4 1 1 50.0 50.0 9 11 -2 3 10 -7 33.3 90.9 -57.6
SR ) 2 6 -4 11 10 1 8 9 -1 2.7 90.0 -17.3
U & L 2 - 22 7 15 8 4 36.4 57.1 -20.7
=1 Bz bl 2 - 4 17 -13 12 3 9 300.0 17.6 282.4
=S 1E L 1 1 1 -1 100.0 -100.0 3 12 -9 1 7 -6 33.3 58.3 -25.0
= = bl 3 4 -1 1 1 333 25.0 8.3 12 5 7 7 3 4 58.3 60.0 -1.7
AR A S AT 2 5 -3 3 8 -5 3 -3 37.5 -37.5
WERME S AT 2 2 2 1 1 4 -4 400.0 -400.0
% O #B 2 [ A7 1 -1 - 5 2 1 1 20.0 50.0 -30.0
/)N BB & B HY 2 -2 - 6 2 2 1 1 33.3 50.0 -16.7
B RE R E N - - - -
& M AR 37 2F A7 - - 2 3 -1 3 1 2 150.0 33.3 116.7
f5 FB AR B o8 T - - 3 2 1 1 2 -1 33.3 100.0 -66.7
5 BB 5% R AT - - - -
EHEAFAERN - - 1 -1 -
AKEBAKFIHT - - - -
A K BB 3 K HT 2 -2 1 -1 - 50.0 -50.0 2 -2 1 -1 - 50.0 -50.0
PNEER & i o R AT 1 1 - 1 3 -2 1 2 -1 100.0 66.7 333
B\ RAE - - 3 5 -2 2 2 66.7 66.7




